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1. Which among the following is correct when considering the Fata Morgana, a complex
type of mirage?
(1) Fata Morgana can produce multiple stacked images of objects, making them
appear as if they are floating or rising above the horizon.

(11) Fata Morgana, the name derives from the Arthurian legend of Morgan le Fay, who
was believed to create illusions and enchantments.

(A)  Only (i) (B) Only (ii)
(C) Both (1) and (11) (D) Neither (1) nor (11)

2.  Match the following List A (Agencies of UNO) with List B (Headquarters) :

List A List B
@) FAO (1) Washington
(1) IBRD (2) Rome
(1) UNESCO (8) Geneva
@iv) WHO (4) Paris

@ ©-6) @-1)a)-2) (v)-(4)
B)  ©-©2) @)-1)(11)-(4) (v)-(3)
©  ©-6) @-(1)ai)-(4) (v)-(2)
D) ®-2) @)-(3) @)-(1) (v)-(4)

3.  Which of the following sequences is not correct when considering the international years
for protecting human rights and the dignity of mankind?

(A) Africa Year : 1965

(B) International Year of Human Rights : 1968
(C) International Anti-Apartheid Year : 1978
(D) International Year for Women : 1975

4. Chronologically arrange the following events/activities of the Indian revolutionaries
during the freedom struggle of India :

(1) Looting of a train near Kakori railway station by HRA.
(11) Jatin Das dies in jail after sixty-four days of fasting.

(i11) Bhagat Singh and Batukeshwar Dutt drop bombs in the Central Legislative
Assembly.

(iv) Assassination of Saunders, the British police officer at Lahore.
A) (@), (i), @), (v)
B) (), (1), @v), @)
©€) @, @), (i), (i)
D)  ®, (), @), (v)
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colMLLIT Gurysmestm, 6 &&EHeumer oauenss IGCFemms &[mHs Hlev  Clamer(EmnGurs)
LN6dTeU (HeueTTEUM N6V 678 Fiflwimestas|?

(1)  SoumlLm GomygestT, GLM(HETH6Il6 LIy H(HSHSLILLL LILBIGEN6T 2 (HEUTSHS (PIgU|LD, {em6u
SgeumenTsHEHME GCGev WIGLILIG| SHeVevg 2 Wi(Heug Cuimey G&HmeTmLb.

(11)  coumliLm GUTFHETT, LOTEOWSHST WLHMID LOWSHSHBIGENET 2 (HEUTEHEGHUSTSH HOULILIHID
Gomaest Gsv coGLIUIET Y THTFIWIET LTTeseTSHS5enSuN60 (HHg @b Cluwy GlumULLLgI.

A) () v B) (i) wLEd
€) (@) wHm (i) D)  (i)-b Gévemev (ii)-b Gevemev

MNesreunid LLigwies A (UNO @6t pseminsseir) UL iguish B (sensvemiowisid) 2 L6t QLIM(hSH S :

Ul iguwiey A ulipwey B
1 FAO (1) eumaflriLesr
(1)) IBRD (2) Gpmb
(11) wyoelesrsnvGCasm 3) OQmesfeur
(iv) WHO (4) umfleiv

GO H\&sT :

@A) ®-3) (@)-1)(i)-(2) (v)-(4)

B ®-@) )-1) @)-4) @v)-(3)

©  ®-3) ()-1) (iD)-(4) (v)-(2)

D ®-@) (1)-3) (11)-(1) (v)-(4)
wesflgs 2 flenwasT LOHMID WG EGuSHSHET SHevoTewllLGHMSL LTGHISTULSDETT FreuGCsHas
21,650 (H&E06Ts & (HS5 560 Cl&meT(EHGELITE) NetTou(hHLD suflensseaflsy erg FHWMs @svemev :

A) g NNEsT ever(h 0 1965

(B) &#7euCsea werllg 2 flemwassT gy e60r(h) : 1968

(C)  FreuCsa HiMGleum erhlFLiy sy esorh : 1978

(D) OQuessrsEnsaTaT FFeuGCshes o everH : 1975

@nslu  ssndHrl  CurpmiLsdler  Curgk @bSHwl  yrlHwmergserflsst  L6sTeu(HLD

Bla e &6/ ClEwesvLim(hseneT &reveuflensLiLilg euflendLiL(h S mIs6T :

(1)  srCsmf rulley HemevwsHH MG i(HEL e Tulemev HRA epevld Qg meiremeiLilgssev.

(1) oHler HTEV SMILSHSH BTG BTLEHET 2 eetmeFsSHDOGL NnE Henmuisv
@m&EHmmy.

(1) usg Ar LOMID LHCHEEUT HF WHECWMT WHEW FLLL CUrTeneUuley (&6soT(H&Eemer
eS&\eoTy.

(iv) evmaaiflev LNFLg6in CUTeSsiv SiHlSMAWmeT FTevsTLTerol6sr Li(HG&memev.
4) (@), (1), @), Gv) B) @), (), @v), @)
©) @, @v), (1), (11) D) @, (), (@), @v)
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5. Which of the following works is considered by MGS Narayanan as the ‘Unclassified

encyclopedia’ of Kerala history?
(A) Malabar Manual of William Logan
(B) History of Kerala (4 Vols) by K.P. Padmanabha Menon
(C) A Survey of Kerala History by A. Sreedhara Menon
(D) Tuhfathul Mujahidhin of Sheikh Zainudhin Magdum

6.  Which among the following statements is not correct when considering Bankim Chandra

Chatterjee, the prominent Bengali literary figure?

(A) Anandmath, Devi Choutharani and Sitaram are the trilogy of Bankim
Chandra

(B) Bankim Chandra was called the ‘Sir Walter Scott of Bengal’

(C) R.W. Fraser considered Bankim Chandra the first great creative genius of

modern India

(D) Bankim Chandra was the moving spirit behind the Student’s Literary and

Scientific Society in Bengal

7. Identify the country where the Maori, an Indigenous community anointed

Nga Wai Hono i1 te Po, a twenty-seventh-year-old queen as their new monarch.
(A) Australia
(B) Indonesia

(C) New Zealand

(D) Papua New Guinea

8.  Which of the following sequences is not correct when considering the comments or

quotations of the leaders during the French Revolution?
(A) “Oh! Liberty, what crimes are committed in thy name” : Madam Rolland

B) “A mad dog! That I may be! but elect me and despotism and privilege will die
of my bite” : Comte De Mirabeau

(C) “Terror is only justice, more inexorable and therefore virtue’s true child” :

Maximilien Robespierre

(D) “Not only France but we can make a heaven of the entire world on the

principles of Rousseau” : Jean-Paul Marat

A 4-
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6TLD.23).6T6M. [BTTMILIETITEOTTEY, G&T6em euFeummlett ‘SetTRemmdlenLi(h) eTetTengsCemmiSigwim eTesTes
SHSLILHID LenLLiL] 6rg|?

A)  efNsvedlwid Geurasevflesr evLIMT GLogn)6160

(B) Gs.9. ugwpru Gwetresflest anflevLifl gyl Carerm (4 Clgm(EH &)

(C) A. ubsr Gueresller e #7Ceu L't Gasremm anflenvigf)

(D)  Gows engeniFeir EBMET SILLSSIL (PRTATSlesT

WPEEW eUmISTET @eusSlWeurSlwmsT LRSI shHT FLLfSlenw s[HSH 60 Clamer(EmnGurs)
N6dTeU(HLD Fammsesv erg) FflwmeTa Sisvev?
A)  yerrpswLD, CxHe QFsTaTrTessil WHMID FHTITD HPHCWTT LRELD FHEHFTadlesr
Lengsumreg
(B) umidld shHymensu curISTETSSI6T FIJ 6UMVLIT 610&HTL 6TETM] HeMLPESLILILLITYT
(C)  &.L6TW,. ulICraT, Beler @bHlwmalst Wwaev HMhs LenLIUTDHMey Cengwims
LRISID &EhSH TTen6us &(HS 6T
D) eurusTeTSHHl6v WTETITOUTHE T @6vaE W WMMID HMaNWEL FhisSHSH6T L6tTesTT6n
[H&(IHLD Y, 6BTLOM LIGBIEID FHETT @) (HHSTT

@muss g suwg gressil Nga Wai Hono i te Po,-sow Sisujseflesr Lfw esTestyms LILHI &y

gepssoment Geumflaer ULLTNCapsD O1FIS HTLenLs setorLmlweayD.
A) e Credwm B) @BCasrGerdlwm
©) Hydenbg D) uwdyesur By, HesAwim

NGTEr&L Yrliflulesr GUTE seneveufserflet &(hEg5IHH6T Hev6ug| CMEETETSHmETS &(H 60
Q& meT(EmHEUITE) NetTou(HD suflenaserfley srgl Flwimes @evemev?

A) “e! mabBdHrw, 2 miseT QLWL eretTe (HOMMBIGST BHLBEHEST : GLLD CrmevessrL

B) “@m eousHussty BTW!  HTET @ HESSHEVTD  eTeTm!  LETTTE  eTeiTen6sTS

CaihoshmssT, FraurdHamywd ApLyflenwub BHIeT ShsbsTen @mnhaeNHibn” :
&mOGL 19 BlFmaNwy,

(C) “vwrisreurgsd  LLHGCL  BHH, Cob HNFHES  (PYUTHF,  eTeTGel
BEVGIEVIT (S HG S 60T 2_GBBTENLOWITET (HLRHEng  : TeHLbled west CrmuseNwiy
D) “Ogmetteiv WL W6VEY, eHCEFTENET GClBTETENSHHEM6ITLY 2 6V&HD  (LP(PEUENSWLD

CETT&HHLMTSHS (PlWLD” : e86sT LIT6V LOFTL
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10.

11.

12.

Which statement is correct when considering the German trade in Kerala?
(i) The Germans had a trade settlement at Mahe (Mayyazhi) during 1680 CE.

(11) The Germans had a settlement at Cochin with a church in the name of
St. Bartholomew.

(4)  Only (@)

(B) Only (1)

(C) Both (1) and (11)
(D) Neither (1) nor (i1)

Which Indian freedom fighters wrote the biographies of Italian political leaders like
Joseph Mazzini and Guiseppe Garibaldi in Urdu?

(A) Lala Lajpat Rai

(B) Bala Gangadar Tilak

(C) M.A. Anzari

(D) Moulana Abdul Kalam Azad

Chronologically arrange the birth year of the following social reformers of Kerala :
(1) Pandit K.P. Karuppan
(1) Vakkom Moulavi
(i11) Sahodharan Ayyappan
(iv) V.T. Bhattathirippad
4) (), ), @), @v)
B) (1), @), (111), av)
©€) ®, @), (i), (i)
D)  ®, (), @), (1)
Which of the following statements is/are correct when considering Swathi Thirunal, the
Maharaja of Travancore :

(1) Meruswamy, a famous musician in the court of Swathi Thirunal was known as
Kokila Kandha.

(1) Mohanakalyani, a raga was created by Swathi Thirunal.

(1) Satyapariksha (Trail by ordeal) conducted in the Suchindram Temple was banned
by Swathi Thirunal.

(iv) Kannayya Bhagavatar, a disciple of Tyagaraja Swamikal as the courtier of
Swathi Thirunal.

(A) Only (), (ii) and (iii)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) All (), (ii), (iii) and (iv) are correct

-6-
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Cayemmalsh G IO UTSHHHHMS &(HSHH6V ClBTETEHLCUTS 6The M &ens Fiflwimesrg)?
(i) 1680 CE @eév Qmiwefllwgsst wmaml (bww)) @60 aufsHsss (GYOwmnsHamss

Q& IT6ToTL9.(THH S 60T
(1) Oxjureluissr Qarsdlullsy Lesflg LTsHsCeumdlsu eTeTm o(h CHeumevwsHHletT Gluwifsy
&Cwneor.
A) @ wipHo B) (@) wiEw
(©) @) womid (11) D) (@) @svemev (i1)-1b @)6vemcL

hs @b &bl Gurymsflesst @&HTeolw HFFliisy SHeneveufsermer GamaLll weverdlesfl
LMD GWElFIGL &iflumsvly GUTeTMeUTSHEfl6tT uUTPHNS suFsuTDHenM 2 (HG GlmPluiey

TS wyeTemesTy?
(A)  eumeur suZQLIZ) MUl (B) umev sRIBTEHT Hlevay
(C) er.gp. sievTETIA (D) QusemeumssTT IL1FIEV SHEVITLD Y EFMTE

Capermellest etTeu(Hld &eps FrSH(HSHeuTSHisEerlet NMbHS yesoTenL  SreveuiflensLliLly
S|EDLDSHSHELD :

(1)  uevergl Ges.19. &(mHLILIET

(1) eusBsL GlweTeuai

(1) FGammsyesT WIwLILI6T

(iv) el ulLsHfauTL
A (), (i), (@), (v)
B) ), @), ), (v)
©) @, Gv), Giv), ()
D)  ®, (1), (v), (1)

HmNsThIsa] WSTITRT  &Feurdl SH(mbBreneTsds &S Hen  GlasmsTEnbCuTg  LNedTeu(mHD
Fapmiseflev erg) Fflwimerg)?
(1) weurdh Hmprefler HrFemeuuey UspOLumHD @enss HamevEhi GCumareurd) Camdlevm
STHSIT 6T60T HEMLPSHSLILILLITI.
(1)) CurseTssowmsssi eTetTM FTHLD FeUmdh) &)(HBTETTE) 2 (HEUTHSLILLLG].
(111) &FBHTL CamuNedley FLESILHID FSHWLflganT (CamgemeTuisst aulfl) seumd H(HBT6TTEL
gL ClEwwiulLg).
(1v) setTeTIWT UTSHEUST, HWTETTY GeumdlaefeT HFFemeus Sen6e0eUrTes @) (HHHEUT &eurs)
S(HBeT.
&) @), (i) wboud (iii) LD
(B) (1) womb (1i1) wiHibd
(C) (1) wHmb (1il) wLEIWD
D) siemersaiw Fflwmestemeu ((1), (11), (ii1) MM (1v))
-7-
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13. Which of the following feedback mechanisms is most likely to accelerate global warming?
(A) Increased plant growth due to higher CO:2 levels
(B) Higher cloud cover reflecting sunlight away from the Earth
(C) Melting polar ice reducing the Earth’s albedo

(D) Increased absorption of COz by the oceans

14. Which type of pollution is most likely to cause eutrophication in aquatic ecosystems?
(A) Plastic pollution
(B) Thermal pollution
(C) Nutrient pollution from nitrogen and phosphorus

(D) Noise pollution from shipping activities

15. What is the primary driving force behind the formation of ocean currents?
(A) Gravitational pull of the moon
(B) Tectonic plate movements
(C) Wind patterns and the Earth’s rotation

(D) Heat transfer from underwater volcanic activity

16. Which of the following is a key function of a GIS?
(A) Creating 3D animations for urban planning
(B) Capturing, storing, analyzing and displaying spatial or geographic data
(C) Conducting field surveys for data collection

(D) Predicting future weather patterns

A 8-
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13. yel QeuliuwenLgeney HNSLLHSSHIUSDE LKeTeU(HD 6THS NeTenmiL eubl(pemmeES HSHls

eumiLiLyererg,)?
A)  oihe CO2 oieTeys6T SMTewTons Sreuy suemidd HsN&SE)
B) BN BHHG G eeflenw NTEHLIESSEW iHe Cs ppLlLLd
(C)  yluNest L eLNCLTEDEUE (HEMME L &i(H6u LIesll 2 (hESH6v
(D) GumrsLsssTTs CO2 2 M)(EhgFH60 HH&HSH5S5]

14. ey euemswrer wrsUTH  BFeump &HOMIFEEGLLD HeOWLILSEM6D WLl CrmoolNCaHanuement

gHUOSBEHF (D7
(A)  Wermeivigss e
(B) Qeuliu maum()
(C) empLyegsst LHMID LiTevLITedled) (hbg 26Tl L&F&5E| TEUT(H
(D)  sLiL6L BLEUYSHMSSHETTE FHLI(HID 6260 Mg

15. sL6b BOrTLLRAISET 2 (Heumeusm (& (PHEHW 2 Hg| &S erg?

(A)
(B)
(©)

D)

ghlresilet FLL 69ens
ClL&CLmesfl8 LIG6TL1960T @ WIS SMISET
efedTl. GULL65T LoMHMILD L LBluN6dT &Frpme

B(mH&s19u9l6v eriflemey ClewsvLmliyed(Hibg! Cleuliu uflormHmLd

16. Nesreumeueteumnilev GIS @ et waHw CewevLim(h) erg)?

(A)

(B)

(©)
D)

BSFULM SLLIOLeVISSTeT 3D 265 lCoansiTaHemer 2 (heuTs & g60

@LERFTIHS S6V6vg| LeNulwey sreysensT ensliummise, Cal&HsHev, LiGLLITey
ClEwgHeL LHMILD STLFLILI[HSESHI5H6V

&6 CoafllLSESTET &6 QY U6 SHEM6IT HLS5SH|5H6V

TETSHITEV EUTEBT6M6V (LPEMMEHERET 650115560

-9-
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17. What geological process is responsible for the formation of the Himalayan Mountains?
(A) Erosion caused by glaciers
(B) Subduction of the Pacific Plate beneath the Eurasian Plate
(C) Collision between the Indian Plate and the Eurasian Plate

(D) Volcanic activity along a mid-ocean ridge

18. Which river system in India is characterized by a unique phenomenon known as “river

piracy”’, where one river captures the flow of another?
(A) The Cauvery River system
(B) The Narmada River system
(C) The Godavari River system

(D) The Brahmaputra River system

19. Which ecological concept describes the interaction between the Nilgiri Tahr and its
habitat in the Western Ghats, where its grazing habits influence the composition of

plant species and overall ecosystem dynamics?
(A) Trophic cascade
(B) Keystone species
(C) Ecological niche

(D) Habitat fragmentation

20. Which alternative energy source has been most prominently promoted in Kerala for both

electricity generation and reducing carbon emissions?
(A) Wind energy
(B) Solar energy
(C) Biomass energy

(D) Geothermal energy

A -10-
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©)LDUILDEDEV LOEMEVGET 2 (THEUTEUSHM (S, TetTerT LieluNwiey QlFWeV(penm STesTLd?
A)  usslllurenmaeTTey gHLIHID il
B) wCrHlw LIGeTL s E iiguilev 2 6o LFLNG LICETL 1965 jigLievol& 60
(C) @naHw LGeTL-&@Eb w,erflw LIGsTL-6EW0 @enLCuw Comgey

D) mBHSsLOY Wa[H suflwms eriflensy GlFwesoum(p

@nHwureNsy ehs BHEH emwliy “feuf enurd)” ererlL(BIL  Sesflggleuomesr HlaLpeumey
euen&LILI(HSSLILHE DS, SBIEG @ BH LHOMT(H HHUN6T L LSS enaslLDHMIS D ?
A)  sraifl B SiemoLIL (B) miwsTBH Siemoliy

(C) GCamsmeufl BH SemLoLiL D) AybwysHTT B SenwLliy

beu&lfl sammeEL CmEHs CISTLFES weneuuiley 2 6iTemr & 6T euMPeaILSSMEGL @enLCw
2 66 CQBTLIEML 6THS (EL60IWev &(H&H G aNeUNSHEIMGI, i HH6etT CLOUIFFEL LIPSESHLD SHTeU
@ estraiseifletT Heveneu LHMID LHOWLTEHS &HDHMIFERH Qusselwensy LUTHEH DS ?

(A)  (LCymNs CmenvGsal

(B) &envGLsiT @evTrig6T

(C) ersamOLITH6L HFH

(D)  eumpeilLid NfleuenL&6v

WBlesTEmy 2 MU LMMILD &ML 2 L5lpeneUs &emMLUILSDHSTES GaTermeallsy s mmm)| erifl&s s
SUBTTD & (PSHENIDTE 26 @GeNsaLUlLg|?

(A) sy epHme

B)  @&flu abmed

(€)  2ufl sybmeb

D)  yeNGleuliL gyMHMeL

-11-
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21. In the context of Kerala’s Physiographic divisions, which of the following statements

accurately describes the Midlands region?

(A) It is primarily characterized by high-altitude mountain ranges and steep

slopes

(B) It consists of undulating terrain with a mix of valleys and low hills,

supporting diverse agricultural practices
(C) It is dominated by coastal wetlands and marshy lands, crucial for biodiversity

(D) It features a flat landscape with extensive paddy fields and is located near

the Arabian Sea

22. Which of the following phenomena contributes to the orographic effect that significantly

impacts the rainfall distribution in Kerala, particularly in the Western Ghats region?
(A) The Intertropical Convergence Zone (ITCZ)
(B) The El Nifio Southern Oscillation (ENSO)
(C) The blocking of moisture-laden winds by mountain ranges

(D) The shift in trade winds

23. In 2024, India successfully launched a mission to the Moon as part of its ongoing space

exploration efforts. What is the name of this mission?
(A) Chandrayaan-2 (B) Gaganyaan

(C) Aditya-L1 (D) Chandrayaan-3

24. Which initiative was launched by the Government of India in 2024 to promote electric

vehicles and reduce pollution in urban areas?
(A) Pradhan Mantri Ujjwala Yojana
(B) FAME India Scheme Phase 11
(C) National Electric Mobility Mission Plan

(D) Atal Mission for Rejuvenation and Urban Transformation

A -12-
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21. Gapemmeflest NACUTEHTMTLNES Nfleyserfler (G606, LNetToUHLD  6THS M EHEMEWIT6BTSH]

BIL6umeBTL 60 LiGHemw &lsvedwioms eNeuflsHme)?

(A)

(B)

©)

D)

@& (PSHETEMOWITS 2 WIFLOMEST eM6VSEISTLISST MHMID ClamkiGsHsmer &Fifleys6mmsy
suensLILU(HSSUILHSE DS

@& UeTeTSSHTEH@EGHSH6T MMID  SHTLPEUTETT  LDEMEVEEITIET  HEVENOEUWILET  S{6M6V
Semevwimest  HlevliLpliennds — Glasmetor(heTsrgl, @& usvGeuml  efleusmw
HEDL(PEOMEHEN6T Y &flHE M|

@& LULVIUNT CLHESSSIME (PSSEWLTET &LG6VMY FIH6VMISET MHMID F&HILIL
Hl6VMmIGETTEY Y HlE&D ClENISHISIMSI

@& Urhs CHEL EUWIEVSETHLET Falgll SHLenLWmeT HlevliLFlienLds G&mesor(heTsmg)
LMHMID HTLNSSHLEVIEE Si(HEE6V SHEMLDHSEIETETS|

22. Gspemmeiley, GMlLuTs ComEs STLFES wensull LGS UL WwenpLGILTeyll LIFeaImens

sevoflgomet  Sjemalley  LTHSHEGL Hlevellwev eNemsmeysE NetTou@Hd Hspeysmssfley 61l

urigsef &S ma)?

(A)
(B)
(®)
D)

GleuliLieBETL6v GR(HraISlementLiL esorevid (ITCZ)

El fiGerrr Qgm (& Siemevey (ENSO)

LDEMEVECISTLISETTEL FFLILISLD Hlemmbs STHenms &HILILS)
6UTSH58 STMHMI6T LDTMHMLD

23. 2024 sy gyevorigey, @nHwm serg sMHCUTmSW ellesorCleusfl yule wwmHseflsr m

LEGHWTS Hl6v61 8 (G, (T LILeTTSHen S Gleunm&roms gleusslwg). @ hg LiewsfluNer Quwif erestesr?

(A)
(B)
©
D)

Fh&rwimesr-2
&&6OTILITET

apHswm-L1
gh&\rwmesr-3

24. OleTETT EUTHEITRISHEN6T 2618 &H6N&&H6|D HaFLULMEISE6L reUTLenLs Gmmaesa b 2024 @sv

@hHW Sireme QGrLmslulL Wwwhd eg?

(A)
(B)
(©
D)

Ny mest bS] 2 gheumeom Guirggestm

FAME @nHwm Sl sl 11

CapHAw WleTamy @uisssD S LLD

L& &I680T &S] oMMID HSFLLM LOTMHMSSIMHSTEST L6V Li6wof]

-13-
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25.

26.

217.

28.

29.

Fast Track Courts in India established based on :
(1) The recommendation of 11t Finance Commission.

(11) The Recommendation of the President of India.
(i11) The Recommendation of the Collegium of the Supreme Court.
(A) Only (1) (B) Only (1)
(C) Only (i1) (D) All of the above

In the Constituent Assembly debates, “I hold that these village republics have been the
ruination of India”. Who made this comment?
(1) K.M. Munshi
(11) Sardar K.M. Panikkar
(i11)) Dr. B.R. Ambedkar
(A) Only (1) (B) Only (i)
(C) Only (1) (D) All of the above

The Legal Advisor of the State Government is known as :
(1) Power of Attorney
(11) Advocate General
(1) Attorney General
(A) Only (1) (B) Only (i)
(C)  Only (ii) (D) All of the above

Arrange the following Committees in a Chronological order :
(1) Balwantrai Mehta Committee

(i1) L.M. Singhvi Committee

(i11) Ashoka Mehta Committee

A)  ©, @), () B aw), @), @)

(€) (1), (@), (1) D) @, (), (1)
Indira Gandhi appointed Sarkaria Commission. Who was its Chairman?
(1) Ranjith Singh Sarkaria
(1i1) Guna Singh Sarkaria
(i11) Nanavathi Singh Sarkariya

(A) Only (1) (B) Only (ii)

(C) Only (i) (D) All of the above

-14-
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@nsHlwralsy allenrey HSHIDTMHHISET @) &65T SiigliLiemLuilev BlmieuiLL (heTemeor :

W) 1leug s G@eNs ufibgienr.
1) @nhHw werrHuhHuler LflHSIenT.

(1) o &F BHweTMHH 6T ClBTeSdlwsHeT LfibgenT.
A () @i ®)
(C) (iil) wLEW (D)

(ii) L G

GLGev 2_6iT6IT BiEMEBTSHGHILD

STHAWevenlILF FenL efeursnisefey, “@nhas HImos Gy raHassT @QbHwmeNest e ereTm)

BIT6tT &(H&IHCM6T . QbHHE &H(HSHENHE ClFTetTerTa WM ?
(1) Gs.erd. (petTad
(1) &Fsmy Gs.erb. Lewll&sT

(111) LrsLy .eyf. HbCuSsT
A) @ wiEbd (B)
(C) (ii1) wL(Hd D)
wrblev et FLL o Ceomasrms HmwiiLibhiueur :
(1) ueuF Syoolt L LiTewf
(1) oleuGsLl Gigerrysy
(111) &LLjesll QggevTTen
(A) (1) wipw B)
(C) (ii1) wLEW D)

LlesTeU (HLD (8)(LE&6M6TT STeveUflengLiLlg (MG UHSSHLW :

(ii) WL Gid

GO &H6TITL. 60165TSHGLD

(i) w @

GLMEETITL. BI6760TSH G|LD

(1)  ueveuBHTTL CLEST &L

(11)  er6v.61LD. Hraied) (&0

(1l1) oCeraT CLHST G (W
(A) @, (), (1) B) G, (), @)
(€)  Gi), (@), (i) D) @, i1, (i)

FrHsTAWT SolakeneT @QHETT &MHEH BIIOSSHTT. HSH6IT HeM6VeUT WITF?

@
(i1)
(iii)

T(Eh&FlS Il sFsamiflwm
Gevorm fral FFsSsTHlwm
BTesTmeUg) Flhl &I miflwim

A) () LD
(C) (iii) LG

(B)
D)

(ii) wL Hd

GO & 6TITL. 606TTSHGILD
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30.

31.

32.

33.

Protection of Children from Sexual Offenses Act, 2012 came into existence based on :
(1) Article 14
(1) Article 21A
(ii1) Article 15(3)
(A)  Only (@) (B) Only (11)
(C) Only (i11) (D) All the above ((i), (i) and (iii))

In which Case, the Supreme Court reversed, by a narrow majority, its own earlier
decisions upholding the power of Parliament to amend all Parts of the Constitution
including Part III relating to Fundamental Rights :

(1) Kesavanantha Bharathi Case

(i1) Golak Nath Case

(11)) Minerva Mills Case
(A) Only (1) (B) Only (1)
(C) Only (iii) (D) All of the above ((i), (i1) and (iii))

Who were the first Speaker and the Deputy Speaker in the Legislative Assembly of
Kerala?
(1) C.H. Mohammed Koya
(i1) O.K. Aysha Bai
(i11) Sankara Narayan Thampi
(iv) K.M. Seethi Sahib
(A) Only (1) and (i11) (B) Only (i1) and (ii1)
(C)  Only (i11) and (iv) (D) Only (i1) and (iv)

Which of the following statements are correct according to Article 3267
(1) Basic Principle of Universal Adult Franchise
(11) Election to the House of the People on the basis of Adult Suffrage
(i11) Election to the Legislative Assembly on the basis of Adult Suffrage
(A)  Only (i) (B) Only (ii)
(C) Only (1) and (i1) (D) All of the above ((i), (i1) and (ii1))

-16-



30.

31.

32.

33.
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umeSlwied @Gmmaisefledhhsl GWhbamgasemer UTgisTs@GD L, 2012 Gger SigliuamLuie
BEDL(PenD& (&, UbSS -
(1)  9rfley 14
(i) Nrfley 21A
(1) 9Nrfley 15(3)
A) (1) wihHb
(B) (1) wipb
(C) (i) wiEb
(D) CuwGev 2 sem SiemevTEHGID ((1), (11) LHMID (1i1))

@ng eupsHley, SpliuemL 2 flemwasst GarLjumer uEd I 2 luL orflwsvenoli9esr
SIETHGILI LGS &H6em6ITILD &)(1H 51618 M TewT LTI IT(STHLO 65T M &&5 65T SHSMTHNS
BleveublnISHID  SiFeT ClEMHS WHOSW (PyeysemeT 285 BHoTOD @R (GSMISW
ClL(HLOLITETERLOWIT6Y LOTMMIIWIS) :
(1) CoFsumesthg LTTH 6UNSE
(1) Caxmevs BTS LSS,
(111) levTFeu LBl6VETL BULPE (S,

(A) (@) wiEb

(B) (1) wipb

(C) (i) wiEb

(D) CwGev 2 sem SiemeTEHEID ((1), (11) LHMID (1i1))

Cayem FLLL CuUTemeuudesT (P&Hev FLIMBTWST LDMHMILD GI6O6UT FLITHTWIST W ?
1)  Aerg. oy Camwm
(1) .Co. uNagm umil
(111) &RIsT HTFTWesTET &L
(1v) Ga.61b. F& FmamIl
A) (1) woomid (1i1) WL(HWD (B) (1) womib (iil) wL (Hib
(C) (ii1) wmmib (1v) WL (HID (D) (1) woHmib (1v) WL (HLD
Nifley 32661 Lilg LN6T6U(HLD FaMmiseMlev erg) Fflwimerg,)?
1)  wyerlleugasv SIL6LL coliFmesTENFerOl6sT SyigliLienL & Camium(
(1)  euwgl euBbCHTT 6ums G Nemulesr SiigliLienLUN6Y L&SET ETMSHH DG C&HT&H60
(1)  euwg euBCHTT 6umsEflenouleT SgliLienLuey FLLL CUTeneus @ CHTH60
A) (1) wipo
(B) (i) wipHb
(C) (1) whmibd (i1) WL (HID
(D) GCuwGev 2 sem SiemeTSHGID ((1), (11) LHMID (1i1))
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34. Fundamental Rights have a reasonable restrictions permitted on freedom of speech and
expression in the interest of the “Sovereignty and integrity of India” mentioned in :
(1) Article 12(2)
(1) Article 19(2)
(111) Article 18(1)
(A)  Only @)
(B) Only (11)
(C) Only (i11)
(D) All of the above ((1), (i) and (ii1))

35. The Judgement in the L.. Chandra Kumar Case (1997) established :
(1) Tribunals are not substitutes for the Supreme Court and High Courts, but their
functions are supplementary
(1i1) Tribunals decisions are subject to scrutiny before a division bench of the High
Courts.

(111) It established the validity of the Art. 323A and 323B.
(A)  Only (@)
(B) Only (1)
(C) Only (i1i)
(D) All of the above ((1), (i1) and (ii1))

36. A prerogative Writ of a superior court to call for the records of an inferior court or a body
acting in Judicial or quasi — Judicial capacity is :
(1) Habeas Corpus
(i1)) Mandamus
(i11) Certiorari
(iv) Quo-Warranto
(4)  Only (1)
(B) Only (11)
(C) Only (i)
(D) All of the above
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34.

35.

36.
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“@hHwuralsT @enmWwTesTend WHMID @HEDWLLILITLIGET BHVenIssTs CUFSH: LHMID &H[HHS

&5hSITSHSem b5 SgliuenL 2 flenwasT Hlwmwwmer sSLHluurhesemsr ——— 60
WIS SSLILL (H6iTerg)?

@ ey 12(2)

(i)  9fley 19(2)

(111) 9Nfley 18(1)

(A)
(B)
(©)
D)

() wLED
(i) wi @
(iii) L Gid

GGev 2 6o emest gD ((1), (11) whmi (1il))

6T6v. FHAT (GLOMT 6up&H 60 STy (1997) HimieuliulLg) :

(1) Sruurwriiser 2 &g BSHIWeTHD WwHMID 2w BHLETDRISEHSE WLIHMTES @eVens,
Q4EBTITEV BeuMMeT GlEFWweLLIT(H&6IT &l6m650T.

(1) gruurwrusefler Wiga|ser 2w BEHeTmmsefler ellaxst CLIERE (P6T 3 U1e|5E,
2 LUl Léen6l.

(1) @sl GFsveuLIgwWmED Nfley 323A wHmIb 323B.

(A)
(B)
©)
D)

@) wL A

(ii) L@

(iii) i b

GLoGev 2 6er Siemes gD (1), (i) wHmib (i)

R 2-6TFIOD BHIETDLD SHevevsl FHSSIMD SAevevsl LGS EHSsImDLTS CFusLbD @b
SIMLILNGIT L6 &6em6IT SeMmLPLILIGMETET 62(Th 2 WIJ LTS 60T HesflaFdmLiL 2 iflemi :

(1)  GCamwen smyUsv

(11)  mesETLLDGL

(11) QeFFylwmryif

(1v) &Geum-eumyesorGLIT

(A)
(B)
(©
D)

i) L G
(ii) wL G
(iii) L

GGev 2_6iTeT SiEnEBTSHSILD
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37.

38.

39.

40.

Find out the correct statements regarding Article 315 of the Indian Constitution :

®
(i)

(iii)

There shall be a Union Public Service Commission for the Union
Two or more states may agree that there shall be one Public Service Commission
for that group of States.

A member of Public Service Commission shall hold office for a term of six years
(A) Only (1) and (i1) (B) Only (i1) and (iii)
(C) Only (i11) and (1) (D) All of the above ((1) (i1) and (111))

The 734 Amendment Acts added :

@
(1)
(iii)

Constitutional status to Panchayati Raj Institutions
It added 11th Schedule to the Constitution
The Act added Part IX to the Constitution

(A) Only (i) and (ii)

(B) Only (i) and (iii)

(C) Only (i) and (iii)

(D) All of the above ((i), (ii) and (iii))

Article 350B provides :

@
(i1)
(111)

The President can appoint a Special Officer for linguistic minorities
The Commissioner for linguistic minorities sent a report to the Rajya Sabha

The Commissioner for linguistic minorities reports to the President on linguistic

matters
(A) Only @) and (i1) (B) Only (11) and (iii)
(C) Only (1) and (111) (D) All of the above ((i), (i1) and (ii1))

In October 4, 2024, The Supreme Court finds that, caste segregation exists in Indian
Jail, which violate the Article 23 of the Indian Constitution, they are :

®
(i)

Degrading labour

Oppressive practices violate the right against forced labour

(i11) Violation of Article 17

(A) Only (i) and (i)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) All of the above ((i), (i) and (iii))
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39.

40.
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@nsHW SrflwsvenliL g sl Sler 3156ug Nfley QSTLFUTET BHLOG| FFIWITET M &HenssHm6TS
SetoTLMlweyLb :
D) welusssrs @m weflwsst ulisfls FFeian slaxssT @) (HaELD.

i) Quessrh) s ABHEG COULL wTHlemET Sibg wrbomsslsr &walhE @b
Qg CFemeu y,en65TWID @) (H& 8 GeUestT(HILD ETEITLIENS, 62LIL|S GI&T6ITETEVITLD.

(1) udefls syelsv sllawesller 2 MmNt Y mi UL HTVSHSHIME LSHaNUN6L @) (HLILIT.
(A) (@) womid (1) wLEHWD
(B) (11) womb (1i1) wi(Hb
(C) (iil) mmybd (i) wL(Hbd
(D) CwGev 2 ser SiemevTSHGID ((1), (11) LMHMID (111))
736ug)| H(HSH5E FLLMIGET CETeHeLILILL6DT :
(1)  uEpFTWSS TTR HMIEUETHISEHEE) HTFWVEnLIL| HHSHEVG
(1) @& srdlwsvenwlifNey 116ug| SiLLeuenswTenw CFT&HSHS5|
(111) @e&siLb yrFAwsvenwlifey IX LGgHenws CFFsH55!
A) (@) wHod (i1) wL(EHWD
(B) (i1) womb (1i1) wi(Hibd
(C) @) womb (iii) wLHID
(D) CwGev 2 ser SemevTSHGID ((1), (11) LMHMID (111))
9Nifley 350B suwpriGHma) :
1)  Qumbeuf) AmumeTenuleT(hesTeT ML HHamlenw errHud Hlwdlsaseurid
(1) OQwry HpureTenLUNETHSSTET YemesTW FrRWsFUTeNDE ADEMSE R6TeNMm
SJEDILILIEVITLD
(111) Qumfle  AmureTemwuNeT(HEHSHTRT  pemesoTwy,  GmPHuNwed  eNawwirhissrflen
oeTTHLE &8 M &He08 ClFIWevTD
A) (@) wHoid (i1) wL(EHWD
(B) (i1) womb (1i1) wi(Hibd
(C) @) womd (iii) wLHID
(D) CwGev 2 ser SemevTsHGID ((1), (11) LMHMID (1i1))

S156Lmruy 4, 2024 @ev, @nHlw Hempuleyv srHll NifleaNlenerr 2 6Temg, @& @bSHW
SiTFlwevenoliNesr 23 sug| Nifleneu LBMISIM G| 6TesT 2 F& HHIOETMLD SH6BoTLMIHSH I, SH6M6L
) QUWeuEHSID 2 Ly
(1) SILEGPeND BML(PMMEET &LLTW 2 6nPpLIL|sE, eT&HlTmest 2 flenwenit Bm|HleTmest
(1) Nfley 17 @edr LBmev
A) (1) woomibd (i1) WL ({HID
(B) (i1) womid (ii1) wLHIb
(C) (1) womibd (iii) L HID
(D) CwGev 2 sem SiemeTEHEID ((1), (11) LoHMID (1i1))
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41.

42.

43.

The 104t Amendment of the Indian Constitution introduced :

(1) Extended the time limit of SC and ST reservation seats in Parliament and State
Legislatures

(11) Reservation for EWS

(i11)) It removed the reserved seats of Anglo - Indian Community in the Lok Sabha and

State Legislative Assemblies
(A)  Only (1) and (ii1)

(B) Only (1) and (i1)

(C) Only (ii1) and (ii)

(D) All of the above ((1), (i) and (ii1))

Which of the following statements are correct in connection with President of India?

(1) The President submitted his resignation letter to the Speaker of Lok Sabha

(i1) The President submitted his resignation letter to the Vice-President of India

(i11)) His removal from office is to be in accordance with procedure prescribed in Article

61 of the Constitution
(A)  Only (1) and (ii1)
(B) Only (i1) and (iii)
(C) Only (1) and (i1)

(D) All of the above ((i), (ii) and (iii))

Find out the Chairman of 16t Finance Commission of India :
(1) Annie George Mathew
(i1) Ajay Narayan Jha
(111) Dr. Arvind Panagariya
(A) Only (1) (B) Only (1)
(C) Only (i11) (D) Only (11) and (i11)
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155/2024-T

@nsHw rFlwevenlifest 104 eug S5 HAB(WPSULGHISSILLLG) :

®

(i1)
(iii)

LTTmEHOeTmD  wHmIb  wrhley FlLwerprissflsy SC womiw ST QL @sIsEL[H

@\ Lmiserfler smev surbL HLligsslUlLg)

EWS&asrer QL @gi86sH0

&SHETeneU WMMID Wby FLLU Gureneusstley oymifCoor - @QbHW FeLs s S 60T (HE (&
RGIGSLILILL @)L BISEN6T G| [HEHE WS

A) (1) wooid (1i1) LLHI

B) () wipmid (i) L G

(©) (i) b (if) w Gid

(D) CuwGev 2 sem SemevTEHGID ((1), (11) LoHMID (1i1))

@BHWE GYWraHs Semevsu] QGTLILITES LetTou(HD Fanmiserfley erg Fiflwmesrg)?

®
(i)
(111)

eTTHILIS) H65T8) TGO &Hl98556MS D&HSHETen6U FUMBTWSFILLD FFLUINSSTT.

eTTHLS H66TE)| TGO &Hl9556MS @HSHI HlenewoT WesTTHLSUNLLD FOFLUILNNSSTT.

Seueny  ugeluNey @B BEEGuS  SArFlwevenlifesr  6leug  Niflaflsv
GOILNLLUL(heTer HenL(penmuietTLilg @) (&8 Geuesor(hlib.

(A) () whmud (iii) wE G
(B) (i) wpmib (iii) i Ew
(©) () wiHmib (ii) wGd
(D) GuGe 2 arer SmersgIb (1), (i) wHmi (i)

@ndHwrefNesr 166ug) HlH e 6wTILS S 65T H606V6UEN T8 &68oT (HILI Lg.UL{hIGH6IT?

@
(1)
(iii)

Sietresi @myel Gosul,

SIE0Li BT TWLIETHT ST

LT&LT. yedlhs LsTsmflwm

(A) (1) wLEw (B) (i) wr @b

(C) (iii) wL @b (D) (i) wmmb (iii) L b
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44. Which of the following is the least infective material for the spread of HIV?
(A) Blood (B) Semen
(C) Breast Milk (D) Saliva

45. The global campaign may measurement month is related to which disease?
(A) Hypertension (B) Diabetes
(C) Obesity (D) All the above

46. Which is not a rich source of Vitamin D?
(A) Sunlight (B) Fatty fish
(C) Eggyolks (D) Finger millet

47. Who are the beneficiaries of the Arogyakiranam programme of Government of Kerala?
(A) Children aged 0 to 18 years
(B) Women aged 15 to 45
(C) Individuals above the age of 60

(D) Visually challenged people

48. Which among the following has the highest blood flow in m1/100 g of tissue?
(A) Kidney (B) Liver
(C) Brain (D) Heart

49. What does PHEIC stands for?
(A) Population Health and Environmental Impact Committee
(B) Public Health Evaluation and Incident Control
(C) Preventive Health and Emergency Information Center

(D) Public Health Emergency of International Concern

50. Which group represents zoonotic diseases?
(A) Zika, COVID-19, Cholera, Japanese Encephalitis
(B) Plague, Nipah, Rabies, Monkeypox
(C) Kala—azar, Typhoid, Leptospirosis, Plague
(D) HIV, Rabies, Leptospirosis, Poliomyelitis
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45.

46.

47.

48.

49.

50.
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LN 6dTeU (HeUETEUM N6V 6T8.20.69 LIT66US M (& (&EMMEUTSsT QSTHMILI GILIT(HET 6187
A)  @ussw B)  efibgl
(C) wryus umsy D) =By

2 euagemmaNw LNFFFTTD G GLoawTGILERTL b 6THE GBI L6 QSTLTLenLWS?
(A)  2wj Grss WS B)  BAfley Cpmu

(C) 2.L6v upLwedT (D) CwGev 2 66T SiEDETESILD

eneul_ L6t D 88 Qusmyons @eveunsg) erg)?
Q)  Gw eef B) QamuuL et
(C)  WwLevLWI6bT W(EhF6T &(Mh D) rsF dsvsvl

Cayer Sirdlesr 4, CrmafHwdrewTd HILLGH 6ot Liwestmerflae wimy?
A) 0 ws6v 18 suwig) euemTUNEVTET (5HENSH 6T
(B) 15 wps6v 45 suwigiemLw GlLessTas6T
(C) 60 euwgisE CuHULL BUFS6T

(D) umjemeu GHEMMUT(H6IT6IT L& &6

NesTeu(meueTEUMN6L 678 L5169/ 100 Hymd HasseNe HHes @QrsHs sl LI 2 6rerg)?
A) Ambrsn (B) &6v6Sy6v
(C)  epever D) @sww

PHEIC stetrugy) sTen g8 &0)sSEma?
A)  umyGevegett Glaun6vg Si6suTL 6T6TENTTETGILEITL 6V @DCLISL SO Iy
(B) udusefs Glamevs eTeumeyGouangsiT SietoTL @)6TEIGIL6ITL SH6voTL GIrmsy
(©) 9Nrfleustricst Qamevs, o6soTL 6TLOTGIZ6ITE @ 6sTLITGLO6RH6IT GlF6tTLIT
D) vuefs Glamevs eTTGIETE Gy oLl @) 6VTLTGHEREETEY & 63T F 68T

6HS (& (W 2IOCerrmigs CHMISEN6TE (HNSHEME?
A) &, Cameill-19, smeuym, Geuesfen srerdlGLsS g6
B) WNGemss, Hlum, Criilen, wRILITSSL
(C)  smeum-gigmy, emLumii(h), QeoliGLTeNCrTdsin, LNCeTes

(D) er5.m.60, Crilen, GleviIGLTeLNGTTH 6, CLTESGimem L6967

-25-



155/2024-T

51.

52.

53.

54.

55.

56.

An integrated, unifying approach that aims to sustainably balance and optimize the

health of people, animals and ecosystems is known as :
(A) Holistic approach
(B) Sustainable Development Approach
(C) One Health Approach

(D) Transdisciplinary Approach

What is the name of the emergency response for the prevention and management of
violence against healthcare workers when patients or hospital visitors become aggressive
recently implemented in Kerala?

(A) Code Grey Protocol (B) Code Blue Protocol
(C) Code Red Protocol (D) Code Orange Protocol

Which is the most recently completed National Family Health Survey (NFHS)?
(A) NFHS-4 (B) NFHS-5
(C) NFHS-6 (D) NFHS-7

What is the acceptable level of fluoride in drinking water as per the Bureau of Indian
Standards’ specification?

(A) 1 mg/L B) 2mg/L
(C) 3 mg/L (D) 4 mg/LL

The blowing of the air through the room when the doors and windows are open is called :
(A) Perflation (B) Ventilation
(C) Deflation (D) Aspiration

Choose the correct theme for the world environmental day 2024 :
(A) Our Solutions to plastic pollution
(B) Our Planet, Our Health
(C) Ouwur Land, Our Future
(D) My health, My right
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54.

55.

56.
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D&S6T, 6N6VMIGHS6T WLHMID SFOHMIFGHLPD SenwlLserler HCrreaHlwsSms Hlensvwimsst
gblenev MM CbUbH SHgIeuns CHTHSLTSHS Cl&TEBITL 6(F §(HEISENETITHES TV (S (LPEHD :
A)  WPWEMLWITET Siew)|(E (PN (B) Hlemsvwimest usTiEH 680G LPEOD

O @m&EsETHTT TG LPOD (D) @enLblemev eI LM

gbugHleyr  Cagermalley  GlewsLLhHiSHULLL  CHmTWTflEsT — 36V6V&EI  LO(THESHI6ULDER 6T
LITT6neUWITeTT&H6T Y HCTTauoms @\(HéESGLeUrsl, &&STHTIL  LesslWmeTysEnheE, erSHymest
QUST(PENMEM WIS SHILILSMDEL HIFeUSILILSD (G HEUFTHT6V BLEUIGHENSHUN6ST QILIWIT 6T65T6T?

(A)  Carl &6y yCymLiGLmamey (B) GCamL Liesth YGrmLGLT&HT6Y

(C) GCaml QL yGrmlCLmamsy D) GCarl oy yEps YErmLCLTH M6y

& FLSS6L (PlsslulL CaEWw @OHbU &arary sersblshily (NFHS) erg?
(A) NFHS-4 (B) NFHS-5
(C) NFHS-6 (D) NFHS-7

Bureau of Indian Standards @eir efNeursEMILNesTLY (&L BIFlev  coLiesHEMT(H
FHMISCSTETETSHFalg Ll S6T6L 6T6ITE0T

A) 1 mg/L B) 2mg/L

(C) 3 mg/LL D) 4 mg/LL

&5H6Y 6T LDMHMILD SVESTErTEVE6T SHMHS) (HE G CUTE Hemm euflwims sTMHM| 695560
eTesTM)| HeMLPESLILGHISIMS).
(A QuFsLIGeTagest (B) Qeuettrig Cevarguett

(C) wuGeragsst D) e NCregesr

2 608 &DHMIFGLP6L SleoTd 20248 & mer Fflwime &(@HLUGILT(HemeTs CaTey ClEwiweayL :
(A)  Nemmeivigss OMEFUITLIYMETET 6TRISEET HT6L 6T
(B) mwg Srsw, Bog o CrmesHwib
(C) mgl Hlevid, LG THITSHTEVLD

(D)  er6iT 2 L6bB6VLD, 6T6T 2 flemILD
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57. In the case of photoelectric effect, increasing the frequency of incident light on a metal

results in :
(1) Anincrease in the kinetic energy of photoelectrons.
(11) An increase in the work function of the metal
(111) An increase in the number of photoelectrons.
(iv) An increase in the stopping potential.
Choose the correct statement(s):
(A) Only (1) is correct
(B) Only (@i1) is correct
(C) Both (1) and (111) are correct

(D) Both (1) and (iv) are correct

58. Choose the correct statement(s) regarding the velocity of sound in air :
(1) Increases with an increase in temperature.
(11) Decreases with an increase in pressure.
(i11) Is independent of pressure.
(iv) Increases with an increase in density.
(A) Both (1) and (111) are correct
(B) Both (i) and (iv) are correct
(C) (), (11) and (1i1) are correct

(D) (), (1) and (iv) are correct

59. The working principle of a hydraulic lift, a device used to lift heavy objects, is based on :
(A) Archimedes Principle
(B) Bernoulli’s Equation
(C) Pascal’s law

(D) Buoyancy
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57. ceflblesterT(p&s eNlenerafstLilg, @ 2 Ceurasislsv aeflullet HHlTEleustsTEneTIT HHSHIFILILISE0T

eNlemeTeuUTss ;

(1) @sflbleTaramisaerfleT @was MMy S SHLILY.

(1) 2 CeumasHer Gousmev GIFWILIMLIY60 HHSHLIL.

(i11) eeflbletTesTan) S a61fl6tT 6TetaTEUs | SHEMBUNGL S SHFILIL.

1) HoussIb Hper sy,

Fflwmer M&Eema(Henem) CHiye| GlFwiweaw :

(A)
(B)
(©
D)

(1) wLH FHwTeTE)
(11) wLHb FHwreTs)
(1) womyb (ii1) LLEHIWD FAWTETEN6L

(1) woOmb (iv) LLEHIWD FHwTETEN6L

58. a&mmmlev eeedlufletr Goussid G rLFLmeT Fflwmest SM&ensenwl(sensT) Ca ey GlEFuiwlaL :

(1) QeuiufHemev HiFHsALILL6T HNHBNEHDG).

1) SIWssL S EFLILLET GDEDSI.

(1ll) SIWSHHHHN(HHG & WITSHETLOTEETS).

1v) oILTHS) S &HLILL6T HNHSHHEDG).

(A)
(B)
(©
D)

(1) mmid (111) WL (HIb FwmesTem6w
(1) wHMID (Iv) WLHID FflwmesTemeu
(1), (i1) wHmid (111) FwTETEN6EL

(1), (11) wHMID (1v) FflwmeTemew

59. emamlgmedls 60lcolilgedt QFWELLIML(H8 Cl&TeTens, SHetTmesT CILUM(HLEEN6TS SIS LWL (HILD

FTgeTLD
A)
B)
©)
D)

9 SiglILINLWITE C\&TETITL G|
Y THELg6M0 GCl&TETENS
QuFGesrmeSluflest &LossTLIM (h)
LImeu&s6L a91&)

NG wirwiesTend
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60. Which of the following statements is not true in the case of gravitational force?

(A)
B)
(©)
D)

It is the strongest force in nature
It is proportional to the product of the masses of the objects
It is always attractive

It obeys superposition principle

61. Choose the correct combination from the table :

Problem
@) Work done by the frictional force on a body sliding down (1)
an inclined plane
(11) Work done by a person pushing a table to slide it in the 2)

direction of the applied force

(iii)  Work done by the magnetic field on a moving charged (3)
particle
A) @ - (1); Q) - (2); (1i1) - (3)
B O-03); 1) —(2); (1) - (1)
© O -(©2); @) -3, (i) - (1)
D) @) - (2); Q) - (1), (1) - (3)

62. What is one of the objectives of ISRO’s ADITYA — L1 mission?

(A)
(B)
(©
D)

To study gravitational waves from the Sun
To study dynamics of Earth’s atmosphere
To study inner part of the Sun

To study dynamics of solar atmosphere

63. India’s first supercapacitor production plant is located at :

(A)
(B)
(©)
D)

Bengaluru, Karnataka
Kanpur, Uttar Pradesh
Kannur, Kerala

Noida, Uttar Pradesh

-30-
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60. mIUY efNems LHNIW NesTeU(HLD Famm|sHesy 6T 2 6tremLowisvsn?
A) @& @unensulleT 6uedlemLOWITeT &F&HWImELD
B) @& QumpLaefisr Henmaefer QL(HEHSHSH MG 6N &TETFLOMmE W
(C) @& eriGuTgD FFLIL| H6TeNLOW|L6DT @) (H85(ELD
D) @& HUUTQUTHax6T Q& TeTeMESH G, HPUYH MG

61. slLeuenesTuilev @(HHSI Fflwmet @enesoTenw Csiey Clewiwe]w :

NyFgemeor Gouem6Y
Q) R FTLHS SH6TSHSH 60 HCLP FMISE LW ClUm(Herler 2 Fmiley (1) SR
eflemawimev GlFwiLhib GCeusnev
(ii) LwesTUhSSLIL[HID aNensulsr Hlensguilev ¢(m Coengen (2) Cmiwenm
BETSS @ BUT AMBS SeTEHLD Calenev
(i) BHOGD ETTER S156T g BTHSLILIVSSTE ClFwwtL{HID (3) THIwenM
Geuemev

A ®-@); @) - (2); i) -B)
B)  ®)—-@); @) - (2); (i) - (1)
© ®-(@2);@)-E); ) -@)
D) @) —(@2); @) - 1); (i) - B3)

62. @snvCrmedler g Hswm— L1 usswllufesr Crrasiigefsy ¢pestm eTetTen?

Q)  GAwusLmHE FiL Semeusemer o iia] GlFwiw

(B) uluNesr euerfloestTLeVS 6T @ WS SN N6V Y lil6] GlFUIw
(C) ENwesller 26T LGHemw gy uiey ClFuiw

D)  Efw susfiwesTLaVE S 6T @UISHNWLIS Y Ui6y

63. @nHwumreNsr WY&V FHLUUF QBUTFLLT 2 MHLGSH U 6m60 HENHSI6TET @ILLD :

A)  Qumiissesh(H, SHIHTLEST B) smeTyT, 25570 NTCHEFD
(C) sevTaROTT, Canyemm D) QmruLT, 2 57 1NFEHED
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64. Choose the correct statement of Aufbau principle.

(A)

(B)

(©)

D)

In the ground state of an atom, electrons are fed into the various orbitals in

the increasing order their energies

Electron pairing do not takes place until all the orbitals of the set contain one

electron each
No two electrons in an atom can have all the four quantum numbers same.

The unpaired electrons in the orbitals of the set have parallel spins

65. The element with highest electronegativity is :

(A)
(B)
(©)

D)

Chlorine
Oxygen
Flourine

Bromine

66. According to Charle’s law :

(A)
(B)
(©

D)

Volume is indirectly proportional to temperature
Volume is directly proportional to temperature
Volume is directly proportional to pressure

Volume is indirectly proportional to pressure

67. The pH of 2N HCl is :

(A)
(B)
(©)

D)

Greater than 7
Less than 7
Equal to zero

Cannot be predicted
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64. Aufbau Qamstenauiesr slwmer HMlsensHamws CHTH6ISH S :

A) @m semedear seor Heneouiley, eTeVELTTeTaHeT LVGsum| &HHMILILITENSS6T60
SieunHMleT Y MMeLSEnET HH&I& G0 suflenguiley ClEassLiL[H &lesTmest

B) Qam@uler oemersHgs SHOHMILLTENSSEHLD eUCEUTESTNID @@H TEVELTTen6sTs
Q& m6BoTIY (THEGHLD EUEDIT TEVELITTEIT @)6M6TITSHSH6V HEOL GILIMTE|

O @m oiemedsy o6Tem 6THE @I  TEVHLTTEITSHEHID  [BTEOT(E  (56UTETITLLD
TEBOTSHEM6ITLLD 6GT DT HFIWLITSHS Cl&TevTIg(HEES (PLYWITS]

D) QarEuNeT &OHDILILTMSSE EENERTHELILLTES 6T6VSHLTTETSHET (&) 65 60T WIT6sT

&FLPV&HER6TE 6l &TesoT (H6T6ITesT

65. 918& eTevHLCITEIHSI6S Iy ClamesorL 2 ML :

(A)  @Germler
(B) s sedlgeir
(©) yGarmfleir
(D) yGymheir

66. &myedletr LSS 6TLIY
A)  siemey QeuliLBlensvs @, LEOM(LPELOMETT 6N STEFMTLOMEGLD
B) QsmEH Qeuliublemnevs @ ChiygwmeT a9&ESTEFTTLOMmELW0
€ CzreH 2iwsss8DE Cri sfdsTemomeD

D)  sieme] HWHSHSHH DG MM SHLOTET ENEISHTEFTFLOM(GLD

67. 2N HClgesr pH :
A)  7gmelL Quflug)
B) 78©W0 @mmeuTetg)
©)  uBLwsHDE &L

D) sewles Wiywrg)
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68. Aqua regia is a mixture of :
(A) concentrated sulphuric acid and concentrated hydrochloric acid in a ratio of
1: 3 by volume
(B) concentrated sulphuric acid and concentrated hydrochloric acid in a ratio of
3 : 1 by volume
(C) concentrated nitric acid and concentrated hydrochloric acid in a ratio of
3 : 1 by volume
(D) concentrated nitric acid and concentrated hydrochloric acid in a ratio of

1: 3 by volume

69. Regarding green chemistry which of the following statements are correct :
(A) Eliminate the use or generation of hazardous substances
(B) Minimization of waste in the manufacture of chemicals and allied products
(C) Applies innovative scientific solutions to real-world environmental problems

(D) All the above statements are correct

70. What is one of the main reasons for the increasing demand for hydrogen as a

sustainable energy resource?
(A) It isthe cheapest energy source available
(B) It can be produced from renewable sources, reducing reliance on fossil fuels
(C) It has no energy content and is used solely for industrial applications

(D) 1Itis primarily used in batteries for electric vehicles
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68. 86T CIFPlwIm @)&65T H6VEMEUWIT(GHLD :

(A)

(B)

©)

D)

sumebupbLily 1 : 3 ettt 6N&HIHHHL GFMlaLl Ll Feofles Sblevd LHMILD
eyl LuulL emaml CrmECermiflé jblsud
sumebupbLily 3 : 1 eteorm eN&lHSHH6L GClemleylLillL 6L ifles Sjblevd WwMHMID
Cemleyl LuulL emaml GrmECermiflé ibleud
sumebuloLily 3 : 1 erettm eN&lHHHL GClEMleyl Ll enbBLfls Iblevd LHMILD
eyl LuulL emaml GrmECermiflé jblsuld
sumebupbLily 1 : 3 erettm eNEHHH 0 Glemall L Uil enbLfle blevd WwMHMILD
eyl LuulL emaml GrmECermiflé jblsud

69. &ifer QasvigNenw GluTmISseusny LNesTou(HD Fanmiserlev ergl Filwimerg)?

(A)

(B)

©)

D)

SJUTWSTLOTT GlILIM(BLS6I 6T LIWSTLIT(H 60608 2 MHLISHSemL 588560
@rETWeTRISST WLWOHMID ST GSTLIHeOLW Glum@mLastler 2 mHugSHulsn
HLP16SHEN6TSE (56D &6V

Bl 2 608 &HOHMIFEGHPN NTFFameTsEnsHE Lalenwwrsr HMlealwe SHre|senerL
LweTuh &S SIS

GLGev 2_6iT6T SENEBTH S| M) EEMEHSEHLD FIflWITEsTEn6U

70. Blemeowimest QYMMEV 6UETIOTE MADL TN HHTET GCHenel HH&NHGH aUHEUSDSTET (PSHSIW

SHMEwTEISG6T6) 6265TM)| 6T6OTEDT?

(A)

(B)

(©)

D)

@5 eTeifl15Te HlenL&&H550191 YMMEV CLHEVLDIT(SLD

HeogLigeu  erflolumpleenst  BLEW(BLUDSS (HODSS, USIUNGSS5H55E5
eV 6Tle0) (Hb&! @& SWTfl&&LILILEVTLD

98 SLMHMEL 2 6TETL&ESLD @6venev HMILD GIGTLHsvgIemMm LiwesTUT(H&Emhe & WL (HGW
LweTUhSSLILHIS DS

@l (LPSEITEMLOWITE LOlesT &Iy 6L11T &5 60T M1 &5 (6TH 8585 IT 60T GuLLfserflsv

LweTUhSSLILHS DG
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71.

72.

73.

74.

75.

A bag contain 50 p, 25 p and 10 p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find

the number of 10 p coins.
(A) 200 (B) 40

(C) 160 (D) 360

Arun can do a piece of work in 80 days. He works at it for 10 days and then Anil alone
finishes the remaining work in 42 days. In how much time will Arun and Anil working

together, finish the work?
(A) 30 (B) 48

(C) 42 (D) 60

The average of five consecutive odd numbers is 61. What is the difference between

highest and lowest numbers?
(A) 57 B) 65

©) 8 D) 6

Which of the following inter changes of signs would make the given equation correct?
100 +100x 50— 2 + 3=51
(A) —andx B) +and~+

(C) +andx (D) +and-

Identify the number that does not belong to the following series.
2, 6, 14, 30, 62, 126, 250
A 14 (B) 62

(C) 126 (D) 250
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@(H emuuflev 5 : 9 : 4 eretTm aN&lH5H 6L 50 p, 25 p wHMID 10 p HIESTWRISET 2 _6iTeTenT, @& 60T
oL em. 206. 10 p mresTwimkigerfleir eTetoressll&emaem WS SHevoTLMlWie]L :
A) 200 B) 40

(C) 160 (D) 360

Si(mevor e Ceusmevenrw 80 mrisefley GQFwgIeNL (pyujd. euf 10 BILS6T HHlev Geusmey
Clewdmmy, Netresty Sesfley WL(HIWD s peTsm Couenevenwt 42 BTL&6I6L (PI9SSIMTF. i(HesoT
LOHMILD Siesflev Gememtha ereueueTey CHIHH 60 Cousmeveniul (PigLILITTEH6T?

4) 30 (B) 48

(C) 42 (D) 60

obH& CBTLFEAWTeT ehenmLiLIenL sTesoraeiflerr Frmef]l 61. iFHls LHMID GEOMHS 6T680TE (6THE (S,
@enLGw 2 ser GeumILim(h) eredTenT?
A) 57 (B) 65

C) 8 D) 6

QamrhssuulL abhs GOWbHSemer wLIMHD SMLHSHT SpsHetor  Fflwmer  FssTUM(H)
HenLsGLw?
100 + 100 x50 -2 + 3=51

(A) - womb x (B) + whmibd +

(C) + wHmid X (D) + womib -

esTou(HLD QIS TLIfl6L CILIM(HHSTS 6T6TOTENETIT S{6WLITETLD STETITE LD :
2, 6, 14, 30, 62, 126, 250
(A) 14 (B) 62

©) 126 (D) 250
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76. What was the day of the week on 4t June 2002?
(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

71. (25\/g)x :(i/g)ﬁl , what does x equal?

1 2
@ - B 3
2 5

78. Suppose that in a particular codding LION is written as MNHK. Find out how COW will

be written in the same?
(A) ANB (B) VNB

(C) BNV (D) NVB

79. A family consists of 6 members A, B, C, D, E, F such that B is the son of C, but C is not
mother of B, A and C are husband and wife. E is the brother of C. D is the daughter of A.
F is the brother of A. Who is the brother in law of C?

(A) B B) D

© E D) F

80. 25% of 24 + 25% of 32 —14% of 350 = ?
A) -35 (B) 35

(€) =30 (D) 30
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76. 299eir 4, 2002 oy6dTm) 6UTTSHH)6DT 6T6DTETT HlLPemL?
B  @miy B) Hriser

(C) Q&sueumil D) yser

77.  (25+/5)* =(§/E)H1 , X 618D (& &LW?

| =
DO

(A) ® =

© = D) g

78. @m GOUNLL GMulysy LION eaerug MNHK  eaer  stpsliulpeterg  etettm)
06u& 5|56 smeTCoumd. COW erestLig) eTliLIg eT(Q&LILI(HILD 6T6TLIENSHE SH6BaTLIIWIeYLD :
(A) ANB (B) VNB

(C) BNV (D) NVB

79. m hwub A, B, C, D, E, F ser 6 2 miiferjsenstd Gamesr(herengl, sismeug B sresrug C
@it a6, eotmev C erettg B @6t smi oisven, A wHmib C sevreustt wemesrell. E etestLIg)
C et Gasrgesr. D, A ufest wasir. F, A @etr Casmg et stesrmmey C @)6tr o(mLogsesr wimiy?
A B B D

(C) E D) F

80. 24-@er 25% + 32-6t1 25% — 350-6r 14% = ?
A -35 B) 35

(€) =30 (D) 30
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81.

82.

83.

84.

Neither food nor water

Fill in the blank space

1) were
(11)) was
(i11) have

(1v) none of the above

A O
B) (1)
€ @)
D)  Gv)

Locate the synonym of sesquipedalian from the following :

(1)  Short tempered
(i1) One who loves cycling
(i11) Using pompous language

(iv) One who writes lengthy poem

A O
B) (1)
© @
D) @)

Antonym of clockwise is :
(1) inclockwise

(i1) unclockwise

(111)) counter clockwise

(1v) none of the above

A) )
B O

(€ ()
D) G

Identify the correct spelling?
(1) inveterate

(i1) invertarate

(111)) invetarate

(iv) inverterate

A) )
B) @
(€ ()
O @

to be found there.
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86.

87.

Identify the meaning of the italicized words.
He will never set the Thames on fire

(1) think deeply

(i1) get ruined

(111) achieve something unusually good

(iv) None of the above

(A) (1)
B ©

© @
D) @)

Add proper question tag from the following options.
None of those customers were happy, ———?
(1 isn’tit?

(11) were they?

(i11) hasn’t it?

(iv) weren’t they?

(A) (1)
B O

© @)
D) G

Convert the following statement into indirect speech.
He said, “Let us wait for the award”.

(1) He tells us to wait for the award

(11) He tells him to wait for the award

(i11) He proposes that he should wait for the award
(iv) He proposed that they should wait for the award

A) )
B O
© @
D) (1)

-41-
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88. Choose the correct preposition from the following.
The public are cautioned ———— pickpockets
1 of
(i1) against

(111) about

(iv) on
A O
B) @)
©) @)
D) (i)

89. I speak the truth. I am not afraid of it.
Combine the sentences using infinitive
1) I am not afraid to speak the truth
(i1) I am not afraid of speaking the truth
(i11) I speak the truth as I am not afraid of it

(iv) None of the above

A) )
B) @)
(€ @i
D ®

90. Time we live ought not to be computed by number of years, but by use that has been

made of them. Insert articles where necessary :
(1) The, the

(11) The, the, the

(ii1) A, the, the

@iv) A, the
A O
(B) ()
© @
D) @)

A -42-



91.

92.

93.

SLpeu(md ClETM&(ETHE S sTHITClIFTeL Ca s :

()
(b)
(©)
(d)

SlooM)6m6BTLI GILIGTETUITD GILIWLITSH6M6TS &630TLMIS :

()
(b)
(©
(d)

BLpeau(meuesTeuHmIs @ 2 flw GlmPelLwWFLY &(HS :

()
(b)
(©)
(d

UL IgUI6V 6R60TM)
%5
B0y
SL6VLD
@sid

@ (b @© @
(A)
(B)
(©)
(D)

DN &~ W DN
W ~ N W
=W ok
N = W

UL IgUI6V 6R60TM)
g

Slesorm

LS

10

(A)
(B)

(©)
D)

N W A DN
W = W o
N N R
= DN = W

UL IgUI6V 6Q60TM)
Allusion
Coda
Deconstruction
Lampoon

@ b @© @@
(A)
(B)
(©)
D)

D W o~ W
[ N VVI V)
W = DN

-43-

L e

L

-~ o

155/2024-T

UL Lgu16v @\iresor(h)
LD

il

SIBHLD

SIBITSHLD

UL Lgu16v @\iresor(h)
6T(THEMLD

WIT6m 60T

Lot

SIS

UL Lgul6v @\iresot(h)

6666 16T ()

M| SLLEMLOLIL]

LMD (PEE GSMILL

@evaHlwLt LienL L Nest @mIHI LG
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94.

95.

96.

97.

RCT UTTHMSHBTET 55 ClFTMHEHEN6ITE &H6voTLMS :

UL L9 U16V 6Q65TM) UL Lgu16v @\iresor(h)
(a) &med 1.  &ifley, CauiwmeTd
(b) uEH 2. en&Iflwd, SiEFwHm 637D
(c) &y 3. Qeummi, yerfleveurs
(d) sleoflggeomest 4, LIMI(8), @8I58 (H

(@ O @© @

A 1 4 2 3

B) 3 4 1 2

C) 4 3 2 1

D) 2 4 1 3

@bs ursEH WSS MGl sFflwmsT eury&Hamsenws CHIHoISH &S :

‘BlevS &6 &M &6 6T LEMMEUTES SIEDLOHS eULlem ———— 6T6esTLy’
(A) sLD B) &smrhams
(C) eserQ6u6r (D) wryssD

eT(HLLMT enssLiLeTenerT eTesTenDd LILPGIDMLAE &l Gl (heTsTenL06n IS &H65oTLMS !
A) Qumiwpens B) @6veurs ettmy
C) QLBEHDBGS H&sHUTN] BLESH6D (D) BeverL &mev8HG15E WS

LILLgU16V 6265TM)| CISHML(HL6DT, LILLguisy @\ Fesarenl Ll ClUM(h& S CSTLENT (Plg&ss :

LILL9UI6V 6Q63TM) UL Lgul6v @\iresot(h)
(a) epesTm) HmeVrIGET6Y gREsTMIEm6BT 1.  Quu@rgegwb

2 _6TOTT S 516UG)
(b)  (PHEHTVHMSWLD 2 6T & GI61) 2. ellemerTpmmI
() UYSEsH, BOLNGH6V, 6T(LDSIH6V 3. eenerQWw&FLD
(d) oot QupTs aNemesTERFTsL GlLIwiflsy 4. QsmPHeuw

CR

@ (b @© @

@A 1 4 2 3

B) 4 2 1 3

C) 2 3 4 1

D) 3 4 2 1
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99.

100.
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BUTS S WSHS)6T FFILITEST HeMLOLIEDLIS SH65oTLMIS :

(1) BrLE WEHSEHLWL UMIMLSHEN6T L6 E5 GCousstT(HLd

(1) BrLE wesEHemLW umiemenL Lf1&e5 CoussoT(Hd

(111)  eretT W&ET Fflwme LgSHFT6d)

(iv) ererrgy Wwa6T Fiflwimest LSS &med)
A)  (@)-w, @v)-w &if
(B) (ii1)-, (iv)-b &f
©  ()-, (i) pouy
(D) (1)-, (ii1)-wb &if

06V’ eTetTER)D ClEFTELEYIE EPW O T (WSS (M ClmLf) wims)?
@A) Gsm (B) oS
©C) & D) wrm

CBTLI&6ITl6L SIEnHS R (HEMLD, LIGTENLDEnWE &L (H& :

(1)  wmeTeuT Si6vDf 6U(GHSSHIF CFesTMEUTIT

(1) Q&FYUNEL L6V LEVTEHET LSS5 (&6 mhISeT

(111) &L suLflullev LomesT eetTm| @MIbHE HLHSHS!

(iv) setarenTe emEnME HeVDL|L6IT Q\FTMTET
(A)  (@)-1b, (111)-1b ustTemLD; (1)-1d, (1V)-1D R(HEMLD
(B) (i1)-1b, (iii)-1b uettenio; (1)-1b, (1v)-LD E(HEMLO
(C) (11)-1b, (iv)-1b uedTemLD; (1)-1b, (i1)-1D ER(HEMLD

(D) (@)-b, (11)-b uettemio; (1i1)-1b, (1V)-LD (HEMLD

-45-



155/2024-T

Space for Rough Work
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Space for Rough Work
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